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1. � ~u1 = (1, 1, 1)t, ~u2 = (1, 1, 2)t, ~u3 = (1, 2, 3)t ∈ R3. y² (~u1, ~u2, ~u3) �´�m R3

��|Ä.§¿¦�þ ~x = (6, 9, 14)t 3ù|Äe��I.

2. 3 R3 ¥§�

S =



~u1 = (1, 2, 1)t

~u2 = (2, 3, 3)t

~u3 = (3, 8, 2)t

, S ′ =



~v1 = (3, 5, 8)t

~v2 = (5, 14, 13)t

~v3 = (1, 9, 2)t

y² S, S ′ þ� R3 ��|Ä§¿¦d S � S ′ �=�Ý
.

3. � F ´A��"��. V = F n, U1 = {~x = (x1, . . . , xn) ∈ V | x1 + . . .+ xn = 0},
U2 = {~x = (x1, . . . , xn) ∈ V | x1 = . . . = xn}. y² U1, U2 � V �f�m§¿�

V = U1

⊕
U2.

4. �dA|7-�êÆÚØ£1�ò¤126�µ1.

5. � V ´k���þ�m§f, g ∈ V ∗ � ker(f) = ker(g). y²:

(i) e f 6= 0§K dim(ker f) = dim(V )− 1;

(ii) 7k,�Xþ λ ¦� g = λf .

(5µ�dA|7-�êÆÚØ£1�ò¤126�µ3)
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